Cmondel - npod. mpyda 60x40x1.5MM
CeveHue cmonda (mun 19 Cxema kpenexa (mun 10) - _ N
( ) P , (b koMnnekme ¢ bepxHel nnacmukobol 3azaywkol)
M 10:1 M 10:1
60 Topuebasn [ThacmuHD Kpennenus _
302Nyukn Q Bbicoma Kon-bo kpenexa u
2 < ladka M8 Tun cmonga naHenu, MM Tun kpenexa mopuebbix 3a2yuwek
o = & = \ h Cm.1-2.4d 2430 5
7] 10 m /S (m1-2.23 2230 5
1— = Bunm M8x4OMM A'/\/i (m.1-2.08 2030 4
8 677 #10 ™ € KbadpamHeiM NodzoNoBHUKOM CITI1—186 1830 4_
O] =4 A, MaHens /
o ; ; Cm.1-1.63 1630 4
™ CmaHdapm 2D _
S 922 810 Cm.1-14d 30| CK-35(2D) 3
5 S Cm.1-1.20 1230 3
$24 $10 NG $24 $10 ] Cm.1-1.08 1030 3
o o & (m.1-0.83 830 2
3 24 10 G - A | Cm.1-0.62 630 2
g 221/ [\Jpro g ea/| \po Q ,(m.1" - cmond (mun1)
. . o & ,,0" - demoHupobaHue cmanda
23 10 ol p21 10 S 23 10
o WD 0 T——T o
O A 8 () A o ™
o S| $27 210 o8 S 927 10 S 27 210
o Nb) — N8| N#8)
= S| _s22 910 T S S p2 g10 2 Sl _p22 310
d o
d
$21 310 = Y $10 = S $22 pl0 P24 =y 810
327 = o = §
S| 23 310~ 10 S $2 $10 $10 = < 510 © 0 _
Ns) 8 NoJ 5 D - Qi =)
= _$2] = 827 $2] = 421 $2] $10 927 A 677 67 #10 0,000
E N 2N 10 #10 70 0 ‘
-0,340 -0,340 -0,340 -0,340 -0,340 -0,340
[=]
g 1 1 i
> -0t -0tl o (mA-160 N\ (m1-145 N.(m.1-125 N\ Cm.1-1.05 \ (m.1-0.83 \ Cm.1-0.63
3 e N0, 1 Tlod
— ~0,740 Hepmex Haymob AK. = =
_ Cm.1-2.20 \_Cm.1-2.05 \_Cm.1-1.83 fipobepun fucm ] 1
E /lucmob| 8
=
g Cm.1-2.43 Cmond (mun 13) dns narnenu “Cmandapm 2D” /A\
AM0ANN0
Konupoban A3




